T
=l

kel = F o )
e

B e o ey

12-3990T %,
1L1=~ 00T o
| e == - o S P

NN = == F

INFE I E[-E &

VOC

FUFOOTEL
FREFOOZFL
1 3= 0aFo~
S

T s

355
20% 21

[ 2000

2000

BiEETRES R DiEAE G
o272 15 B —Bi% AL A
w35 i 3

HIOHTT HIZ HIZHIAHISHIS HITHIS HI 9 HEZO H21 HZ2 HR3 HE4 HEE HES
VOC

26
TH-EX5 1,214(95%)
EFEY 175(14%)
D 41 (3%)
1,284

B EAYL

b A 5
Rig S SN Ri=1 = O =] 0]

ca



L E]

HadFEYD
Il 38

AkEoL

I 30 )

i

[ZmEoL

HE

EXiR

i
i | i

TNk ET
POH

Lz

PN O PN ] Y

5
353
20% 23
/ 3000
BiEETREEM BEREH
2600 | o= B—BFZER =
WS EEH
2000
1500
S
T
S
0

H1OHT1T H12H13HT 4H15H16H1 THT 8H1 9H20H21 H22 H2 SH2 4H25H26

26
TH-EX5 144(11%)
EFEY 30 (2%)
BANER 1,062 (85%)
Dty 23 (2%)
1,254

o
t=

to8

o
FS

it (B

26

353




m e
HRTIEREEHEEESR | 4461 ‘.\.
5
461
26% 29
4 R

W0 roEETEEEAl DEmEh
oo | DEEES e

m 2B F

vy R

2000

1600
1000
o000
0
HIOHTTHIZHT 3HT 4B 16 HT THTSH1 9 H20H2 1 H22 H23H2 4H25 H26
5
11
26

REBEE DY 622 (41%)

HE AR 1,412(93%)

AEHEK 598 (39%)




26

o 9,000

o 3,405 211

o 1,213 144 11.9%
o 4,525 2,043  45.1%

HRERXS RAEH(K) A (X) A E (%)
HERAE 3,405(3,680) 211(215) 6.2(5.8)
SHLHE R DR AR 1,213(1,472) 144(152) 11.9(10.3)
BEESIRTE 4,525 (4,547) 2,043(1,964) 45.1(43.2)

1 9,146
2

3




6.2
5.8

11

2.9

é‘%"%’%“e@%‘% S A I AR N

Rahalle

’5‘}

*2‘“2\*?&

mA HEH(H) B4 | BAFE(%)
2k 3,405(3,680) 211(215)| 6.2(5.8)
MMt ERRUEMEEBTESR | 3,084(3,289) 90(107) | 2.9(3.3)
¥ 2,816(3,020) B9( B3) 25(2.1)
5oF 2,783(2,983) 26( 16)| 0.9(0.5)
§8 2,755(2,964) 7( 9)| 03(03)
FESHZOO0IFLY 2,958(3,233) 8( 7)| 03002
FM)ZOOTFLL 2,965(3,235) 7C 4| 02(0.1)
|
HlR — e ERRUERECER -
(%6 — 5o —=F+350RIFLY

—a= 00 F L2y =C=i8
7.0
6.0 | L,
5.0
40
3.0
20
1.0
0.0

W&Q{k&“f HFEFE



HE

90

80
70 -
60 -
50 -
40 -
30 -
20 -
10 -
U .
H15 H16 H17 H18 H19 H20 H21 H22 H23 H24 H25 H26 B4R
EEHIBAERE | H15 | H16 | H17 | H18 | H19 | H20 | H21 | H22 | H23 | H24 | H25 | H26
B = 46 71 81 78 61 48 49 37 28 21 18 27
24 6




VOC

WinEMER
HEFRM(F)

900
800
700
600
200
400
300
200
100

0

—— BT EREUEREITESR

‘ —tr— S B

=} Z0RIFL

-Gt ¥
—=FhSH00TF L

_ /ﬁ {x}_)\f&/“x%

0.03mg/L

0.01mg/L

26 11 27

o=

FEH(EX)

Hia (%)

E37 N

4,525(4,547)

2,043(1,964)

HBREERRUVEHBEER

1,661(1,629)

733( 760)

ThIOEOIFLY

1,885(1,945)

417( 424)

IS

644( 647)

361( 332)

k)OI FLY

1,941(1,997)

279( 157)

A0F

422( 417)

167( 162)




4

21




	スライド番号 1
	スライド番号 2
	スライド番号 3
	スライド番号 4
	スライド番号 5
	スライド番号 6
	スライド番号 7
	スライド番号 8

